0.10 0.25 0.40

0.10 0.20

0.00

0.60

0.50

Trace of dam

!
4000

! ! ! !
6000 8000 10000 12000

Iterations

Trace of fosternest

!
4000

! ! ! !
6000 8000 10000 12000

Iterations

Trace of units

!
4000

! ! ! !
6000 8000 10000 12000

Iterations

0 2 46 8

0 4 8 12

Density of dam

0.1 0.2 0.3 0.4

N =1000 Bandwidth =0.01178

Density of fosternest

=
0.00

| | B
0.05 0.10 0.15

—
0.20

N =1000 Bandwidth = 0.007484

Density of units

=
0.45

T T T T
0.50 0.55 0.60 0.65

=
0.70

N =1000 Bandwidth =0.00784



